ERRATA, VOLUME 71

Albert E. Heins, Axially-symmetric boundary-value problems, pp.
787-808.
Page 796, line 7: This line should read

Bi(t) = —D.(l)(l — p)in = f (2 — )12 dDd"t(t) di, i=1,2.

Page 796, line 8: The sentence ends at the word integrable. Delete
“and therefore D;(1) =0.”
Page 807, line 3: This line should read

f"‘ dC cosh k (a — B)/2 J C(0) cosh (kal/?)
N 0 (a — B2 T all?

Page 807, line 6: This line should read

—_ 1/2
__f sinh k(ﬂ a) sinh (5 — '
—_— a)1/2
B dC cosh k(B — v)!/? C(0) cosh (kB'?)
[ e, oo
0 d,y (’B —_— 7)1/2 '81/2

Paul Ponomarenko, The Galois theory of infinite purely inseparable
extensions, pp. 876-877.

The expression (u—N\) on page 877, line 4, should actually be:
A—pw).

342



